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9. do1 faguerr Hor Hiq fe3ier & 7 How many degrees is the angle shown below?
A

R. P THRIT B0 el ﬁ?ﬂﬁﬁ?ﬂ{ | Match the figure with the type of angle.
A

(%) SATIHHIU (obtuse angle)

c
F
(@) =TI (acute angle) \~ i
E
G

(1) FHHI (right angle)




3. feguat smaaer aifafd ¥ & %e o @RISR | Find the perimeter and area of the
given rectangle.

7 cm

5cm

TIRTATT (DEIMETET) = e [1]

¥, S¥YURY A8 ASRAT AT FE Atg+g ? 6% g (v/) TSR | How is 84567

written in words? Mark with a tick mark (\/). [1]

() AT qE AR AR I+ 9 'ﬂm (Eight lakhs four thousands five hundred and sixty
seven)

(@) =R @ g g qq9 \'\I (Eighty four lakhs five thundred and sixty seven)

(1) =TT B I 99 9q9 \'\I (Eight four thousands five hundred and sixty seven)

(}) TS B9R U= @F AT (Eight thousands forty five hundred and sixty seven)

Y. 3R FHEI AT &1 ? What type of number is 39? [1]
(P) &€ ISEIT (prime number)
(@) TgT Ig=AT (composite number)
(1) ST FF&IT (even number)
(°) SUHAST Hg&AT (decimal number)



% 45+2(6-2)=? [1]

1
9, 2 < FHEAT ST &1 ? What type of number is 2%? [1]

(%) TP FEEAT (mixed fraction numbers)

(@) I9T* = qg&l (proper fraction numbers)
() A9 FT o=t GS©IT (improper fraction numbers)
(&) FHJ A et S©T (equivalent fraction numbers)

5. 0.15 @8 fa=14T agear #iq g5 ! how much we get when converting 0.15 in fraction?

15
10

15

( —_—

100

R.%. 2 fFAMITH 300 ITHATS ITHHT F&e | Convert 2 kg and 300 grams to grams.




g. R fparfger Yoo fHaxars MaxHT g2 | Convert 2 km and 500 metres to
metres.[1]

0. TSN AAAFR TATSHIH THE 5 m, FIEE 4 mT AT 3m G AT G TATGHIEH!

AT 9T IT3delH | If the length of a rectangular tank is 5 m, width 4 m and height
3m, find the volume of the tank. [1]

3m

4 m

5m

99. TS AEAAR 0 fpaifiex Koo fex fegar T e U fFditaer Yoo fiax
fE<ar W ST Bl T &< 7 9T FESEI | If Ram walked 20 km and 500 m on

Sunday and 15 km and 700 m on Monday, how much distance did he walk in total? Find out.

[1]




= X+3:9HTW?W?TQ?[E§?T@§H?
what are the variable and constantinx+3 =9 ?

o LT variable : ...
ar=rer 0elT constant: ...

93. TS TR | Simplify.
3X+2y-xX+4y

[2]

[1]

Q¥. FHIFLIT & T4 | Solve the equation.
2X+1=7

[1]




